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ZESEAXIE O0IS20l MR 73,800 0 73,800
= 14,760
Al 59,040
307 elztol & 73,800 0 73,800
= 14,760
Al 59,040




2A:

X XH -
o=

(R~ =)}
HdoE X8

]

Rl JIESA S8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 73,800 0 73,800
OOI0IS L0l MM (nSHl X2)
73,800,000& x 14 73,800
= 14,760
Al 59,040
AZHE =4 A2 1,441,792 955,212 486,580
Il 678,696
= 208,274
Al 564,822
JIBdE 28X 1,187,256 600,780 586,476
) 593,628
= 118,726
Al 474,902
307 elztol & 1,187,256 600,780 586,476
Jl 593,628
[ 118,726
Al 474,902
11 AMEISXAEEES 1,187,256 600,780 586,476
OJtEHE 28X
1,187,256,000& » 14 1,187,256
Jl 593,628
[ 118,726
Al 474,902
SS=0LsH 2913 170,136 165,582 4,554
Jl 85,068
< 59,548
Al 25,520
307 212+01& 170,136 165,582 4,554
Jl 85,068
=S 59,548
Al 25,520
11 ARRIS XA E X 170,136 165,582 4,554
O=Ss0tL=E 28X
170,136,000 * 14! 170,136
Jl 85,068
=S 59,548
Al 25,520
220 s4X3 8,400 3,600 4,800
202 04| 8,400 3,600 4,800
01 =LHO LI 8,400 3,600 4,800
OAHZIEFY SRFA0H|
700,000 * 122 8,400
YIS 2353 16,000 16,000
307 el2tol & 16,000 0 16,000




2A:

X XH -
o=

ik S84 1@ EER-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
04 QIZHHAMAIH 2 & 16,000 0 16,000
OHBIHE 253 16,000,000 » 14 16,000
SEEM 40,000 16,500 23,500
S 20,000
Al 20,000
307 @120l & 40,000 16,500 23,500
== 20,000
Al 20,000
04 QIZHHAIAIH E X 40,000 16,500 23,500
ORE=K| 40,000,000& *14] 40,000
[ 20,000
Al 20,000
JIBHE JIsEd 20,000 0 20,000
= 10,000
Al 10,000
401 AIEHIX R0 20,000 0 20,000
= 10,000
Al 10,000
01 AlZ2H| 20,000 0 20,000
OJIEdH JIs2d 20,000,000 *14! 20,000
== 10,000
Al 10,000
CH23tE MtelSE 665,846 812,444 146,598
Il 242,367
== 65,611
Al 357,868
FRNE =K U2 e A=A 14,400 9,890 4,510
< 2,880
Al 11,520
201 er2 3| 14,400 9,890 4,510
= 2,880
Al 11,520
01 At2teltl 14,400 9,890 4,510
OZINE=A U2 A2 A=K
14,400,000 x 14} 14,400
S 2,880
Al 11,520
CtEst SatAtg 460,234 0 460,234
7l 230,117
= 46,023
Al 184,094
307 @120l & 460,234 0 460,234
Il 230,117




AT HEIED
B 0l401E =2NEX
el GEsIE AlslSg (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 46,023
Al 184,094
11 AMEISXAEEES 460,234 0 460,234
OLt=Z3t S3tArg 460,234,000 x 14 460,234
Jl 230,117
< 46,023
Al 184,094
ZEOIVUX AU N (B20ns 2Y) 24,500 24,500 0
Jl 12,250
== 2,450
Al 9,800
307 212+01& 24,500 24,500 0
J| 12,250
=S 2,450
Al 9,800
11 ARRIS XA E X 24,500 24,500 0
OZE0I2UX dek2st XA (8=01s 2
g) 24,500,000 * 14! 24,500
Il 12,250
S 2,450
Al 9,800
CHEsE Fg & M XIE 18,000 22,000 4,000
307 212+01& 18,000 22,000 24,000
11 MEISXAIEEE 18,000 22,000 24,000
Ottzabts g & 84 X3
18,000,000 * 14| 18,000
CrEshtEAd st=us X2 34,656 34,670 A4
= 6,931
Al 27,725
307 gl2to| & 34,656 34,670 A4
=S 6,931
Al 271,725
11 AMISXAIEEX 34,656 34,670 A4
Ot=2=0ENH et=zus K&
34,656,000 * 14| 34,656
< 6,931
Al 27,725
Mol DI eiAL &IHKIRA 1,900 1,900 0
= 380
Al 1,520
307 el2to| & 1,900 1,900 0
= 380
Al 1,520




AT HEIED
33 o4oE S8
el GEsIE AlslSg (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 1,900 1,900 0
OMIZQIolL JIEsAL &IIXIR
1,900,0002 %14 1,900
= 380
Al 1,520
ChE2ebls dEusXTAL ML 14,736 14,736 0
== 2,947
Al 11,789
307 212+01& 14,736 14,736 0
< 2,947
Al 11,789
11 AMEISXAEEE 14,736 14,736 0
OUE3HE L2uSAEZAF MM
14,736,000 * 14} 14,736
= 2,947
Al 11,789
L2t MAISAESHE 20,000 20,000 0
== 4,000
Al 16,000
307 212+01& 20,000 20,000 0
[ 4,000
Al 16,000
11 AMEISXAEEES 20,000 20,000 0
OU=23 MASAZ2SME
20,000,000& » 14 20,000
= 4,000
Al 16,000
NAH 2= 70,000 60,000 10,000
307 @120l & 70,000 60,000 10,000
04 QIZHHAMAIH 2 £ 70,000 60,000 10,000
OMIAIZ22t=H| 70,000,000 * 14 70,000
=00l & UEshEXNEEds 29 1,120 1,120
201 2egh=3| 1,120 1,120
01 AtR2t2ltl 1,120 1,120
O=elx0 & LEaIENEg2s &4
=g 70,0002 x8H *23] 1,120
CrEshts gt 29 6,300 7,000 AT700
307 el2to| & 6,300 7,000 AT700
1 AMEISXAIEEXS 6,300 7,000 AT700
OUEsts gt 2¢
6,300,000 * 14 6,300
A4EEs 2 |4 7,654,100 4,722,737 2,931,363
= 140,055
7l 1,226,081




2A:

M HAEES U 84
el Adset A =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,908,389
Al 3,379,575
d8st d3ad =54 7,654,100 4,722,737 2,931,363
= 140,055
Jl 1,226,081
= 2,908,389
Al 3,379,575
EAEX AL BIXIXIE 124,310 120,470 3,840
Jl 50,736
Al 73,574
307 @I2to| & 124,310 120,470 3,840
Jl 50,736
Al 73,574
1 ARBI= XA E X 124,310 120,470 3,840
OHASEXTAL XX LM (402
MNEXIRES ) 22,838,000 * 14| 22,838
OBZHAULRAIE BAETTA XX
= 101,472,000 *14] 101,472
) 50,736
Al 50,736
FAHEEY 25 170,332 100, 102 70,230
7l 85,166
Al 85,166
307 elztol & 170,332 100, 102 70,230
Jl 85,166
Al 85,166
11 AMEISXAEEES 170,332 100,102 70,230
OFAHNEY 25 170,332,000 *14] 170,332
Jl 85,166
Al 85,166
St 9 Fad X 200,446 197,211 3,235
Il 121,335
Al 79,111
307 212+01™ 200,446 197,211 3,235
Jl 121,336
Al 79,111
10 AlRISTIAIEEE 22X 27,110 0 27,110
OStDHHAENAHE SAK HSHM
27,110,000& » 14 27,110
11 AMEISXAIEEXS 173,336 197,211 N\23,875
08t % AW X
173,336,000& * 14 173,336
Il 121,335
Al 52,001




2A:

M HAEES U 84
&l HEE HAd =4 EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
st g HAYE A 21,250 15,400 5,850
| 10,625
Al 10,625
307 212+01™ 21,250 15,400 5,850
J| 10,625
Al 10,625
11 Al =SXAMEES 21,250 15,400 5,850
Ot &% HAE SAN
21,250,000 3 *14! 21,250
| 10,625
Al 10,625
st g HAE TR X 183,000 201,000 A 18,000
& 73,200
Al 109,800
301 LPBENZ 183,000 201,000 A 18,000
& 73,200
Al 109,800
2 M BEA>HS(HUHS, NYTHA) 183,000 0 183,000
Ostn 5 #49 ADIOHY XA
183,000,000 * 14| 183,000
& 73,200
Al 109,800
HAEASE} T2 29 149,154 132,064 17,090
| 74,577
Al 74,577
307 212+01 ™ 149,154 132,064 17,090
J| 74,577
Al 74,577
11 Al =SXAMSEES 149,154 132,064 17,090
OFAYE SEHA T2 29
149, 154, 000& * 14| 149,154
| 74,577
Al 74,577
HAE HESHNEH 29 171,192 166,280 4,912
J| 85,59%
Al 85,59%
307 212+01 A 171,192 166,280 4,912
| 85,59
Al 85,5%
11 Al =SXAMEES 171,192 166,280 4,912
OFad H42sHH 29
171,192, 000& * 14| 171,192
| 85,59%
Al 85,59




2A:

M HAEES U 84
&l HEE HAd =4 EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
AW gt= otdol 29 668,728 633,308 35,420
| 320,564
T 160,282
Al 187,882
307 QIZ2t01 A 668,728 633,308 35,420
| 320,564
T 160,282
Al 187,882
11 AL =XAMSES 668,728 633,308 35,420
OBAWE 2S 0BIHOl 29
641,128,000 *14] 641,128
| 320,564
T 160,282
Al 160,282
OF LAY 2tt= OOl AIZIBE & XI&
27,600,000 14! 27,600
Fad SEXJ 40,000 32,460 7,540
| 28,000
Al 12,000
301 LPENZ 40,000 32,460 7,540
J| 28,000
Al 12,000
01 AISIBE X 2GS (2 RETME) 40,000 32,460 7,540
O&a~E EEXA 40,000,000 * 14| 40,000
| 28,000
Al 12,000
HAaE HLXE 261,000 233,000 28,000
= 119,500
T 23,900
Al 117,600
301 LetENZ 261,000 233,000 28,000
= 119,500
& 23,900
Al 117,600
01 AISIBE X 2GS (2RETME) 239,000 233,000 6,000
OW&EE ALY Me|Z2E HI2H™ XIH
239,000,000 *14] 239,000
= 119,500
& 23,900
Al 95,600
02 MBI 2EHH S (HUAHS, NSTHA) 22,000 0 22,000
OWEHAH(HAEHAIL) 2182 K&
22,000,000 14! 22,000
a4 23X 1,432,570 1,269,420 163, 150
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2A:

M HAEES U 84
el Adset A =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
BE=PNEPC=EPIRE
156,630,000 *14] 156,630
1 AMEISXAIEEXS 27,000 30,000 A3,000
OFAE AHAMES TH (s, &3)
27,000,000 *14! 27,000
401 AIEHIZ SR 0HYI 9,000 18,000 29,000
01 Al&HI 9,000 18,000 29,000
OF2E+HAE H3BSAEES JILEES
4,500,000 *2IH 2= 9,000
HFHAE =N 35,640 39,600 23,960
307 elztol & 35,640 39,600 23,960
04 CIZHHAMAMH 2 & 35,640 39,600 A3,960
O&FEad =X 35,640,000 *14] 35,640
FadRoiatd ZAIE Xd 4,000 6,286 N2,286
= 2,000
= 400
Al 1,600
307 el2to| & 4,000 6,286 N2,286
= 2,000
S 400
Al 1,600
11 AMEISXAEEES 4,000 6,286 N2,286
OFaxdRoliatd 2AIE XI&
4,000,000 *14] 4,000
= 2,000
< 400
Al 1,600
CIXIE0ICIH Hlol #4@ XI& dFaEA X 37,110 36,184 926
= 18,555
Al 18,555
307 gl2to| & 37,110 36,184 926
= 18,555
Al 18,555
11 ARRIS XA E X 37,110 36,184 926
OCIXIZ0ICIOof Tl Fad X3 dgaE
At HH X 37,110,000 * 14! 37,110
= 18,555
Al 18,555
HaE=sxIl2 SA MM 24,600 30,600 26,000
= 4,920
Al 19,680
301 EtE2 N = 24,600 30,600 26,000
= 4,920
Al 19,680




2A:

M HAEES U 84
el Adset A =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 IIEt2 8= 24,600 30,600 26,000
OFAESII 2 SALL MRMHE=EH(4E
SXIHE) 17,400,000 x 14! 17,400
= 3,480
Al 13,920
OFAESTNZ EAX WAL (3D
HEAEXAHE) 7,200,000 *14] 7,200
& 1,440
Al 5,760
FAEEAE JISEY 175,000 175,000
401 Al HIZ 2018 175,000 175,000
01 A&l 175,000 175,000
OBAESHZ 0122 U MR JIS2Y
175,000,000 *14] 175,000
SAEEE 22 1,059,328 922,188 137,140
Jl 446,982
= 89,399
Al 522,947
307 el2to| & 1,059,328 922,188 137,140
Jl 446,982
== 89,399
Al 522,947
05 2IHRIE S 1,059,328 0 1,059,328
O84AHEH 29 893,964
> RIFAIYAIE A HE
448,432,0003 14 448,432
Il 224,216
= 44,845
Al 179,371
DEFAIGA S E A EEH
445,532,000 x14] 445,532
Il 222,766
= 44,554
Al 178,212
OFLEEH SA MM (42, &I A
HYgs, M=¢) 165,364,000 * 14! 165,364
FAEEH JIsEd 5,000 420,000 415,000
Jl 2,500
Al 2,500
401 Al HIZL 01| 5,000 10,000 25,000
Jl 2,500
Al 2,500
01 Al&H| 5,000 10,000 /5,000
OEFAIMAEI I EAEHEH JIs2ES
5,000,000& *14] 5,000




2A:

BH: HAEPS U B4
el Adset A =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 2,500
Al 2,500
SR HAURSOE HE(HEALY) 2,810,000 0 2,810,000
= 2,530,000
Al 280,000
401 AIEHIX R0 2,810,000 0 2,810,000
=S 2,530,000
Al 280,000
01 Al&H| 2,720,000 0 2,720,000
O=2H HaE2soT 2
2,720,000,000& *14] 2,720,000
< 2,449,000
Al 271,000
02 Zeltl 70,000 0 70,000
Ozl 70,000,000& * 14 70,000
= 63,000
Al 7,000
03 AlZ = THHI 20,000 0 20,000
OAl& S THYI 20,000,000 *14! 20,000
== 18,000
Al 2,000
HFAESTAE SAK =X+ X2 31,440 32,920 A1,480
= 6,288
Al 25,152
301 EtE N = 31,440 32,920 1,480
= 6,288
Al 25,152
14 JIEt2 a3 31,440 32,920 1,480
OFxE=XI2 SAHL SX=g X
31,440,000 * 14| 31,440
== 6,288
Al 25,152
AN s X2 10,000 0 10,000
307 glztol & 10,000 10,000
11 AMEISXAEEES 10,000 10,000
OZAE NS K& 10,000,000 % 14] 10,000
ASAH BordgaH U2 40,000 0 40,000
S 20,000
Al 20,000
307 @120l & 40,000 0 40,000
s 20,000
Al 20,000
1 AR SXAIEE X 40,000 0 40,000




2H: OIS
M HAUES U
o9l 2ATE HAU

net 8 (£ & E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONEEA BAHSHE Zoine
40,000,000 *14] 40,000
= 20,000
Al 20,000
Ots d&sd & N 7,766,106 6,962,059 804,047
s 2,439,978
s 1,302,875
Al 4,002,870
= 20,383
CiEnEs A 25 1,733,780 1,045,492 688,288
= 582,000
& 299,284
Al 852,496
QESENXCE USBHNESS(XNASSAIY) X2 151,500 300,000 148,500
= 30,000
Al 121,500
307 el2tol & 151,500 300,000 148,500
= 30,000
Al 121,500
05 212t =S 151,500 0 151,500
OUigH=sdH NESSAg 4820 &
&t X& 1,500,0002 %12 1,500
OtUgNEsHE NSSSAE I
150,000,000 *14] 150,000
= 30,000
Al 120,000
CIetNEsSdE 148l X 808,000 423,624 384,376
[ 404,000
= 202,000
Al 202,000
307 elztol & 808,000 423,624 384,376
= 404,000
[ 202,000
Al 202,000
05 2IZtAE = 808,000 423,624 384,376
OtgnNEsaE bl X
808,000,000 *14] 808,000
= 404,000
< 202,000
Al 202,000
CietlSsdE 22dl X2 116,000 68,000 48,000
= 58,000
< 29,000
Al 29,000




FA HEIEED
M ol AXSH L A
ol GEghsEs A 2= EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 116,000 68,000 48,000
= 58,000
== 29,000
Al 29,000
05 2ItRIE = 116,000 68,000 48,000
Otighss4dH 244l XA
116,000,000 * 14| 116,000
= 58,000
== 29,000
Al 29,000
CtENEsdE 248 =Jt X 40,000 42,000 £2,000
307 lztol & 40,000 42,000 22,000
05 2ItRIE = 40,000 42,000 /2,000
OtigEsdH Fot24gdl Nd
40,000,000 *14] 40,000
CHENESdE £X8] X 175,000 140,000 35,000
[ 120,000
= 27,500
Al 27,500
401 AlEHIZ 2018 125,000 100,000 25,000
= 70,000
== 27,500
Al 27,500
01 Al&H| 125,000 100,000 25,000
Otighss4dH cl2ad 125,000
D>edet 50,000,000 *1IH 2 50,000
= 25,000
< 12,500
Al 12,500
>S0C =&hst 75,000,000 * 100 2 75,000
= 45,000
< 15,000
Al 15,000
405 AHaHE = 50,000 40,000 10,000
= 50,000
01 Tt =S F=H 50,000 40,000 10,000
OotgnNEsaE I 72 50,000
D>edet 20,000,000 * 1742 20,000
= 20,000
>S0C =&at 30,000,000 *1IH 2 30,000
= 30,000
CHEEINESHH JIs2d 10,000 0 10,000
< 5,000




L OlIIED
;O AWSH 2 XE

S UYEEsS

D oEiEs A 2= EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 5,000
405 KHoHFSH| 10,000 0 10,000
=S 5,000
Al 5,000
01 IR =S FSHI 10,000 0 10,000
OUBNSZHE JIXH 7 (FRSHT
<) 10,000,000 * 14! 10,000
< 5,000
Al 5,000
CIENSsSdE SAL =SX=g K& 28,920 271,720 1,200
= 5,784
Al 23,136
301 EtE NS 28,920 21,720 1,200
=S 5,784
Al 23,136
14 0Bt 2a3 28,920 271,720 1,200
OUEN=SHE SMAL SX+d K&
28,920,000 * 14| 28,920
== 5,784
Al 23,136
CrENSSHE SAHA MM 9,600 6,200 3,400
301 EtE N = 9,600 6,200 3,400
14 DBt 23 9,600 6,200 3,400
Ol H=S4dH SAHL 88+ XNI& 9,600
D& H 200, 0002 1722 6,800
D> AIZHH 100,000 x 14 #2323 2,800
Clietssdd olgs X 258,000 258,000
307 lztol & 258,000 258,000
05 2IMRIE =3 258,000 258,000
otgneEsdt olgg K&
100,000 2152 * 12 258,000
ots=8 £ 14,880 14,740 140
201 er=23y| 4,800 5,500 AT700
01 AtR2t2|HI 4,800 5,500 AT700
OXgotsHt?d =l g4+
70,0002 * 10232 2,100
O==E2M 4+
70,0002 * 10 *22] 1,400
OOIS=SAI WA HE HAl=E
100,000& 4 & »23] 800
OOts= WA SEHet s BA+d
250,000 23] 500
202 04| 10,080 8,640 1,440
01 =LHO LI 10,080 8,640 1,440




A &K=
Hu: Ol AXSH L K2

&t tEnss Al 2= EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
Olts=s8 g2=a04t|
840,000& =128 10,080
ll=s=s AAESEXNEMH 121,880 121,880
201 2= 101,880 101,880
01 AFS2t2ltl 92,280 92,280
OAlE 2g=EH| 1,500,000« 122 18,000
ogxt=(8=71, 37183
170,000& « 122 2,040
ORelZHIE4 120,000& * 122 1,440
O=ssgs ML M 5,000,000& 14 5,000
O=sgs 2= M
2,000,000 %14 2,000
OR2oaX 220 23
13,800,000& * 14! 13,800
O==SE3)t ddE=2 08 29
30,000,000 x14! 30,000
Ossgs)t ddZz08 =3 ¢
15,000,000& %14 15,000
O0ts =01+ & &A
5,000,000 = 14! 5,000
02 S3=4gl 9,600 0 9,600
oMIIeza 700,000& * 128 8,400
OostIe:s 70,0003 * 128 840
Odote=ER= 30,0002« 122 360
207 HoHe| 19,000 0 19,000
01 2 E A 19,000 0 19,000
Olts== AH 2 =R XZA
19,000, 000& x 14! 19,000
301 LeEN= 1,000 0 1,000
11 SEAAHIXIRS 1,000 0 1,000
O=SsSgsIt 2483
25,0002 +20H 23] 1,000
CEAEE SEAtdlZel K& 214,887 218,300 A3,413
s 166,888
s 12,516
Al 29,206
= 6,277
CEAEE SgAtdizel K& 214,887 218,300 A3,413
= 166,888
= 12,516
Al 29,206
= 6,277
101 e124d| 39,077 42,230 A3,153
[ 26,240
== 1,968




FA HEIEED
M Ol AF|H L A
CHol: CRIAEIE SEARRR X2 (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 4,592
= 6.277
M ORINZZENSE S 39,077 42,230 A3,1583
OO0tSSE At 2el At 39,077
>ol2s 2,020,000« 1H* 122 24,240
= 19,392
& 1,454
Al 3,394
DAEER= 316,600 «1H* 123 3,800
= 3,040
< 228
Al 532
>EH0H 166,666 x 12 * 122 2,000
= 1,600
< 120
Al 280
D> uw=FH| 360,000 1 360
= 288
== 2
Al 50
D> AXt=g 11,4203 8AI 2+ 111 1,005
= 1,005
>xEg 366,780 x1H12& 4,402
= 4,402
PAYZZE
14,4983 +5A 21+ 123 870
= 870
>Ex= 2,400,000&x1H 2,400
= 1,920
= 144
Al 336
201 et 3| 63,310 78,370 15,060
[ 50,648
= 3,798
Al 8,864
01 AtR2t2|HI 17,540 19,870 2,330
ONE8E 2 252 7
12,060,000 * 14! 12,060
[ 9,648
= 724
Al 1,688
OLEAEE X2 1,850,000 *14] 1,850
[ 1,480




2A:

Ol&ot=0t

M Ots AE8=s4 2 K2
9. CRIAEIE SgAlZRl X2 (SHol: )
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= m
Al 259
OO0tsSEAtdlZel Al nEh|
395,000 x4H 1,580
= 1,264
T %b
Al 221
OEEAEE 23933 &Y
45000081 % 14] 450
s 360
& 27
Al 63
OSEAEE A#HUIA ZAIY
150,000 *1F *43| 600
s 480
= 36
Al 84
OO0t=sSEAtdI 22l A =&
250,000 *4H 1,000
s 800
= 60
Al 140
2 S=29| 8,000 8,500 AB00
OSEAEE HAAAE X2t
800,000 * 14! 800
s 640
= 48
Al 112
OEYAEE 2223 ¥ 282
7,200,000& * 14! 7,200
s 5,760
& 432
Al 1,008
03 SAt2GH] 37,770 50,000 A12,230
OSEAEE #AR2ZH|
37,770,000 & * 14! 37,770
s 30,216
T 2,265
Al 5,289
202 04d| 8,500 7,700 800
s 6,800
& 510
Al 1,190
01 =WO4bI 8,500 7,700 800




FA HEIEED
M ol AXSH L N
9. CRIAEIE SgAlZRl X2 (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S EEEREEEEECT
2,125,000 x4 8,500
= 6,800
[ 510
Al 1,190
301 EtE NS 94,000 80,000 14,000
= 75,200
[ 5,640
Al 13,160
01 AR 2EAHSHS(RNEXRTHE) 85,000 71,000 14,000
SYAELE BAX &S X
85,000,000& » 14 85,000
= 68,000
< 5,100
Al 11,900
11 dAMEEIXIZE S 8,500 8,000 500
OEEAEIEMAL FIHA X
8,500,000& 14 8,500
= 6,800
< 510
Al 1,190
4 IIEt2 83 500 1,000 A500
OEEAEE NESAHL &S|
500,000 *14] 500
[ 400
== 30
Al 70
307 el2to| & 10,000 10,000 0
= 8,000
S 600
Al 1,400
019z & 3=l 10,000 10,000 0
OZEAHE 22 & A NE
10,000,000& * 14 10,000
= 8,000
= 600
Al 1,400
AS0tsHE 29 5,817,439 5,698,267 119,172
= 1,691,090
< 991,075
Al 3,121,168
= 14,106
NS 0tSHE 249H) XA 496,812 477,948 18,864
[ 248,406




2A:
X XH -
o e

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 124,203
Al 124,203
307 lztol & 496,812 477,948 18,864
= 248,406
== 124,203
Al 124,203
10 Al2ISTIAIEEE 22X 496,812 477,948 18,864
OXYotsHE 228 X (J1222H])
473,412,0003 x14] 473,412
= 236,706
== 118,353
Al 118,353
ONAOISHE 28 N (FIH2HI)
23,400,000& * 14 23,400
= 11,700
< 5,850
Al 5,850
KS0tsHE 2lAdl K& 2,336,425 2,171,952 164,473
= 1,168,212
== 584,107
Al 584,106
307 212+01& 2,336,425 2,171,952 164,473
= 1,168,212
=S 584,107
Al 584,106
10 Al SXAIZEE2EHIEx 2,336,425 2,171,952 164,473
OXY0tsHy 124l K&
2,336,425,000& x14] 2,336,425
= 1,168,212
= 584,107
Al 584,106
NS 0tsHE 2dHl =0t XI& 24,876 29,088 N4,212
< 4,975
Al 19,901
307 glztol & 24,876 29,088 A4,212
= 4,975
Al 19,901
10 Al SXAAIEEHE 22X 24,876 29,088 N4,212
OXSotsHE =gl =0t A&
24,876,000 x14] 24,876
= 4,975
Al 19,901
NS0tSHE IAHl =0t K& 528,350 560,530 A32,180
[ 105,670




2A:
PSR
ool

SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 422,680
307 gl2tol & 528,350 560,530 /32,180
=S 105,670
Al 422,680
11 ARRIS XA E X 528,350 560,530 A32,180
OXIS0tsHE 21248 =t A&
528,350,000& x14] 528,350
< 105,670
Al 422,680
NS0tsHE 2] XAl =0t XI& 173,400 177,600 A4,200
307 elztol & 173,400 177,600 24,200
10 AlRISAAIZEHE 202 173,400 177,600 A4,200
OXS0tsHE 238 M =JF X3
173,400,000 *14] 173,400
AGotsdE 2 A& 25,700 22,200 3,500
301 EtE NS 12,200 12,200 0
11 AALEIXIES 5,000 5,000 0
OXS0lsHE BASENRT EH0te
20,0003 x250H 5,000
14 IIEt2 83 7,200 7,200 0
OO0tsEAIXZ0| &=H|
20,0002 +10& +32|« 12 7,200
307 @I2t01 & 13,500 10,000 3,500
04 QIZHHAMAIH 2 £ 13,500 10,000 3,500
OXS0tsHIE Otsetite =Hl
9,000,000& *14] 9,000
ONAOISHE BAX H2r2st 998
4,500,000 * 14 4,500
NSOtSHE SAHA 244 X3 25,200 26,000 2800
307 el2to| & 25,200 26,000 2800
10 Al SAAEEHE 22X 25,200 26,000 A800
OXIGOtSHE SAL B X2
200,000 63 »23] 25,200
XotsHE SAA X (SX==E) 106,920 106,920 0
[ 21,384
Al 85,536
301 2EN= 106,920 106,920 0
== 21,384
Al 85,536
14 IIEt2 83 106,920 106,920 0
OXNS0ISHE SAHL X+
106,920,000 14 106,920
= 21,384
Al 85,536




FA HEIEED
M Ol AFSH L A
tel: XY0tsdH 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S8 XN0tsSHE FIHIE 111,600 119,280 A7,680
= 55,800
== 27,900
Al 27,900
307 212+01& 111,600 119,280 AT,680
= 55,800
=S 27,900
Al 27,900
11 AMISXAIEEX 111,600 119,280 27,680
OS%2x8 Kg
600,000& * 157 A+ 12 108,000
= 54,000
S 27,000
Al 27,000
OEx=2d X 300,000& x 104 2% 123 3,600
= 1,800
= 900
Al 900
NSOtSHIE SA (44 - SA4!) X 1,031,680 883,276 148,404
307 212+01& 1,031,680 883,276 148,404
11 AMRISXAEEES 1,031,680 883,276 148,404
OXIGOLSHIE SAI(AAl - ZA) X
1,031,680,000& x14] 1,031,680
X HOtSHE SABAIRH(LEE) X2 67,500 69,750 N2,250
= 13,500
Al 54,000
307 gl2to| & 67,500 69,750 2,250
= 13,500
Al 54,000
11 AMISXAIEEX 67,500 69,750 A2,250
OXH0tsHE SASAAH(EES) XA
750,000 3004 2= +32 67,500
[ 13,500
Al 54,000
XSAotsHE SASAXHEDIS) X2 195,750 209,250 213,500
307 elztol & 195,750 209,250 A13,500
11 MEISXAEE 195,750 209,250 213,500
OXISotSHIE SAISALRHEIIS) X
750,000 x290H 2=+9& 195,750
ANS0ISHE SSAIZE AN 241,776 270,768 N\28,992
307 @I2t01 & 241,776 270,768 N28,992
10 Al SXAEEE 22X 241,776 270,768 A28,992
OXIS0tsHE =3AI2t AFXI2
241,776,000 x14] 241,776




2N &It
M Ol HESH 2

& XGotsdE 29 (CH9: &S1)

ofl aro dus HD=2

SN B S(B) - NIRAY - BES 0l &0

Ots= XA XI& 451,450 483,705 A32,255
218,672
109,336
109,336

14,106

Mo

=

m

101 e124d| 451,450 483,705 A32,255
218,672
109,336
109,336

14,106

SRR

=

I

04 JIZtN2Z2 X S8+
OOFS=RIWA
>olEzg

1,292,026 x23EH~ 12

451,450
451,450
356,600

483,705

N32,255

178,300
89,150
89,150

Mo

=

292,550 3 x23H « 122 80,744
40,372
20,186
Al 20,186

SRR

9,860 *bAI2Hx23H + 11 12,473
12,473
1,633,000& x 14 1,633
1,633

1

4

HY2SZHI(HEIED) 302,597 293,776 8,821
108,800

8,160
127,977
57,660

SRRE]]

=

4

QIR HHI(GA&IED) 261,574 253,173 8,401
108,800

8,160
86,954
57,660

SRR

=

1

(01&01=D) 67,914 63,441 4,473

a 67,914 63,441 4,473

1
01 2= 67,914 63,441 4,473
2

11,3193 x20Z+300A1 2+ 67,914

QIHA2AH(EHAEIE S Al 22l X&) 193,660 189,732 3,928
108,800
8,160

SRR




SN OIEIIED
M HAPAZHI(KHLIHED)
CHel: QIEA2AHI(0I A IS0 (S &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 19,040
= 57,660
101 @124H| 165,660 162,432 3,228
= 86,400
== 6.480
Al 15,120
= 57,660
03 BRA(RIAH)22XHE S 165,660 162,432 3,228
OOtsSEAta 22l At 165,660
>llEs 2,250,000 «4E12& 108,000
[ 86,400
= 6,480
Al 15,120
>aois 5,580,000& »4H 22,320
= 22,320
>EESII 2,385,000 x4 9,540
= 9,540
>otEsg 110,000 « 122 1,320
= 1,320
> OIEDRAY 12,000,000 %14} 12,000
= 2,000
>2AH U DEY|
260,0002 x4H 12 12,480
= 12,480
WM HsEE=S 28,000 27,300 700
= 22,400
= 1,680
Al 3,920
M SRA(RIHL) 22X BEERE=3 S 28,000 27,300 700
O=peZ JlARY2
143,620& x4~ 123 6,894
z 5,515
[ 414
Al 965
OALHER U IRV
134,810& x4~ 123 6.471
= 5177
= 388
Al 906
OnE:ez ¥ SMHEE=
85,4103 x4 * 122 4,100
= 3,280
=S 246
Al 574




S 018IIED
M HYRAZHI(HLEIEL)
el QIEA2EHI(HEIIEL)
S A - BRI - NRA - BES of e A
O&lx= 10,535,000 * 14| 10,535
= 8,428
== 632
Al 1,475
Jl23HI(0Eot=m) 41,023 40,603
Jl23HI(0EIot=m) 41,023 40,603
201 er23 | 27,223 27,223
01 At2teltl 24,321 24,321
ORA2Y ALBIb|
24,321,000 x 14 24,321
02 S3=gHl 2,902 2,902
ORH2g B39
2,902,000 *14] 2,902
202 04| 6,600 7,080
01 SLHoIH 6,600 7,080
OJl=g =80 300,000& * 122 3,600
OWEIIE gRFA 22104
250,000 x 122 3,000
203 =8| 4,200 4,200
M FA2SHIFII 4,200 4,200
O25& 0lat 350,000& * 122 4,200
405 KHaHE SH 3,000 2,100
01 TR ESF SHI 3,000 2,100
O2J R H) 300, 000& = 107K 3,000




